1
2006 1 10,13
( ( St.2,4,6,A,B )
14 15m
5m 4.7 7.8 33.23 33.60 (20m) 5.0 7.9
33.27 33.60 2m 4.4 7.9 33.21 33.59
40m 3 40m St.1 3 2 St.3
1.5 St.1 5 0.2 0.6
40m St.1 3 0.06 0.33 0.40
St.3 0.34 St.1 5 0.01 0.06
9.0 10.0mg/® ( 92  96%)
St.5
St.1,5 St.3
( 2005 12 6,7
St.1 St.3 -2m St.5 +4m
-4.4 -8.5
St.3  30m -0.10 -0.33 +0.07 +0.23
+0.7 +1.5mg/¢€
( ( 1972 2005 )
3
St.1 St.3 ( -0.3 -0.6 )
( -0.8 -2.6 )
St.1 St.3 ( -0.03 -0.11)

-0.20 -0.40)



2006 1
1 2 3 4 5 6 A B
N 40 56.5%] 41 03.17| 41 03.67| 41 04.17| 41 07.87| 40 5.087| 41 10.67| 41 10.6~
E 140 46.07] 140 45.97] 140 53.4“| 141 02.97| 140 59.2“| 141 06.57| 140 41.0-)140 43.5~
(m) 47.0 53.0 52.0 47.0 40.0 39.0 58.0 69.0
2006. 1.10 2006. 1.13 2006. 1.13
10:35 10:25 11:23
0 0 0
10 10 10
(0 0.7 -0.5 -0.1
(hPa) 1018.0 1030.0 1029.5
E4 ENE3 E3
3 3 3
5 6 6
(m) 14.0 14.0 15.0
om 7.90 4.60 4.70
m 7.80 4.77 4.74
10m 7.91 4.83 4.74
20 m 7.91 5.07 4.98
30 m 7.95 5.64 4.91
40 m 7.93 5.83
50 m
7.94 6.06 4.39
0m  33.595 33.196 33.238
m|  33.602 33.227 33.231
10 m|  33.607 33.244 33.235
20 m|  33.600 33.265 33.270
30 m|  33.599 33.405 33.265
40 m|  33.596 33.535
50 m
33.594 33.437 33.214
5m
( :@mg/L) 20 m 8.98 9.66 9.73
C = ) 94.03 95.71 94.89
9.13 9.23 10.04
95.66 92.47 96.48
(m 45 51 50 45 38 37 56 67
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